|Operator’s Manual
Parts Schematic

item #85507-00

# ~ '
N
-
i
~ -
™
e B
~ RIS
e [
ey ) :
y
5,

wnene - EuGOREQUIPTETTPARTS.CON < ABIE W CAD.

Equipmant

Programs

FProcass )

D Balen Comormtion. AX Rights Reserved = 1007 Brown Avenue + PO, Box 3127 = Toleda, O 43607-0127 « BX-777-3343 + www Datca.com


http://www.floorequipmentparts.com

always be followed,

mwmmm To reduce the risk of fire, slectric
shock or Injery:

» Uze only as described in this manual, Use only manufacturer s
recommended components and attachmema ,

%

* Use only Indoors, Do not use mﬂdoqrs or expose tn rain,

dropped into water, retumn it to your Authorized dealer,
* Do ned pull or carry by cord, use cord as a handle, close door

on cord, or pull cord around sharp edges or comers. Keep mrd

away from heated surfaces,

* Do not unplug by pulling on cord. To unplug, grasp the plug,
not the cord,

» Do not handle plug or appliance with wet hands.

* Do not put any object Into openings, Do nat use with any
opening blocked; keep free of dust, hair and anything that may
reduce air flow,

nances.

This appllance is for use on a nominal 120 volt circuit and has a ground plug (see
illustration, right). Make sure that the apgpliance is connected to an outlet having the
samg configuration as the plug. No adaptor shouid be used with thiz appliance.

AVIAIIHINQ- Improper connection of the equipment-grounding conductor can
result in a risk of electric shock, Check with a qualified electrician or service person
if you are in doubt as to whether the outlet is properly grounded. Do not modily the
Phig provided with the appliance — if it will not fit the outlet, have a proper outiet
Instalied by a qualified electrician,

F P E)J;_ =3 Pl‘?"

* Keep machine clean and in good operating condition,

* Have machine checked periodically by your
Authorized Dealer.

= Use:only authonzad serwoa canters for parts oF sarvice,

* Storé machine carefully in dry dres.

* For optimum drying performance and safety, study and
follow your operators manual,

1= Dn mtaﬂampt m service the unit whlla applianca is plugged in,

~ shock. This applisnce is equippad with a cord having an equupment«groundi i
ducter and grounding plug. The plug must be plugged into &n appropriate outlut‘ﬂ'm‘t
i5 properly installed and grounded in accordance with all local codes and ordi-

. Appllanoe may cause a fire when operating near flammable
vapors or materials, Do not operate this machine near
flammable fluids, dust or vapors,

* Connect to a properly grounded outiet,
* Use only on GFCI protectad receptacles.

) -Toredunemerlskoialectricahock connect only 1o an outlet

provided wllh a ground fault circuit interrupting device.

: -DOnMLEeaneanslonmmwimﬂmfan.
« Do not use with damaged cord or piug. if appliance is not waork-.
- Ing as it should, has been dropped, damaged, Jeft outdoors, or . |

-"'l'hla unit is. thermally protected.

Keep hair, loose clothing, fingers, and all parts of body away
from openings and moving parts.

-Donntuse thladryﬂrwnh any solig- -state speed control device.
-Always oparata dryer on a stable flat surface such as the floor.
* Do not operate dryer without safety devices in plmn

* Do not alkow to ba.used as toy. Closaattenﬂmmnamssary
when used'ne nhildrqu

perhm‘oedby a qualified sarviaq'person.
machine.from its original design. *

‘ Py
[} 7
[w] '
g %
h‘Gmunded
Prong or Outiet Box

Grounding pin




ngWAIlIIIIMI- To reducs the sk of fire, sleatria
shock or injury] only usa dryar as described In

this manual.

Plug in 1o a standard outlet with the correct voltage and

amparage for the unit.

Place the dryer in the desired operating position.

Set the switch at the desired speed: low, medium or high,

Check for proper opurahon before leaving the unit unatiend-
ad. Do not move or carry the dryer when It Is running.

" Do not stack dryers
" more than two imits
hlgh wlﬂ'n:rm ﬂa—downs- .

AWAHHIHG—Tbth;I;ﬁMMMMMMNMMMWHWMWIQ
appliance Is plugged In. - .

Parivdic Maintonance

mmm (tlthﬂ dfyﬁl' WlllﬂOtrun) .
1. Check electrical cord; lsuﬁrmlysaatodmwallouﬂat

1. Check power cord for any breaks, seperations or cuts.
2. Maka sure the ground pin or grounding prong is intact or -

the machine will be unsafe to cperate,

2, Check GFCland reset f tripped. ™

3. Chack to see if building circuit breaked is ipped. If circuit
is ovarloided, move cord 10 different GFCI outlet.

41t using an extenslon cord, make sure’ It Is in good

© eonddition, proper gauge and firmly connected.

SAVE THESE INSTRUCTIONS



View# | BetcoSKU[  Ref. # N Descrlptmn

1 85556 X8261 sca'ew #6 x 1/2 phil pan type a

2 85547 X8872 intake panel

3 85660 PD5 squirrel cage wfocknut PD350, PD500

_ | B5681 |  X8876 _ |[dryer housmg . e

L, 855480, T X88BY 5. [diyer mgtor. amfcapacttor PDSUD ﬂw

6 85092 X8964 screw 3/8-16 x 172
1 85549 [ | X8897 . |[switch .

8 83215 XBOO8N nut, Iock 1/2" steel conduut

9 85550 . X8875 motor control panel

10 . 85557 X8903 m4x6 flat head phillips screw

1. 85786 POTK knob, switch

12 - | 83203 PD8 strain relief 172" npt

13 83219 ' X8926 25" heavy duty 3 wire cord

14 85554 X8870 dryer discharge

15 85395 X8256 nut 8-32 lock w/nylon insert

16 85150 X8278 screw 8-32 x 1/2 phil pan

17 B5555 PD3B foot, black rubber, new style

18 87593

RO

X8221

screw 8-32 x 3/4 phil pan




